Applied Acoustics  (Engineering) – 11/02/2013

Surname and Name:



Matricula:                                                                 

1) Make the energetic sum of the following two values in dB: 80+E and 78+F. 
 









Ltot =                                 dB

2) Compute the total sound pressure level of the following octave band spectrum:

	f (Hz)
	63
	125
	250
	500
	1000
	2000
	4000
	8000

	Lp (dB)
	86+A
	82+B
	78+C
	77+D
	76+E
	74+F
	75+D
	79+A



Ltot  =                                 dB 

3) Compute the total A-weighted sound pressure level of the spectrum shown above.

Ltot,A =

      
      dB(A)
4) The average sound pressure level is measured over a rectangular surface, surrounding a noise source. The measurement surface is (5+D) meters long, (3+E) meters wide and (2+F) meters tall, and is located over a reflecting plane, in free field (outdoors). 






Averaging over the 5 free faces of the rectangular surface, a sound pressure level Lp,avg of 70+D dB(A) is measured.  Compute the sound power level of the noise source.











Lw = 


      dB(A)

5) e 6) In a construction site, a worker is exposed for 4 + A hours to the noise of a machine having a sound power level Lw=100+C dB(A), at a distance of 2+F meters. The machine is installed over a reflecting surface, outdoors.
Compute the following values:


Sound pressure level at the workplace




Leq = 


      dB(A)
Personal exposure level of the worker




Lep = 


      dB(A)

Note: each correct answer gives 5 points (tolerance: +/- 0.5 dB).
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